DIVISION WITH A REMAINDER (H - SET 3)

DIVISION WITH 1 TO 10 Name:
Time: Score: y—
121 41575 =+ 10 = 136) 66821 + 8 =
122) 34342 =+ 10 = 137 38291 + 5 =
123) 46424 =— 7 = 138) 22110 - 8 =
120 20714 + 8 = 13915590 +4 =
125 29032 + 5 = 1) 45018 + 6 =
126) 534923 = 9 = 1) 14461 + 2 =
127) 53316 + 8 = 12) 8494 + 3 =
128) 65915 = & = 13) 14124 =9 =
120) 38406 =+ 6 = ) 2073 +2 =
130) 272 =~ 6 = 145) 9644 = 2 =
131 38444 + 10 = 16 1103 +3 =
132) 18694 + 8 = 1) 24391 + 6 =
133) 30569 + 7 = 1s) 7438 +4 =
131390 + 10 = 1) 4971 + 3 =
135) 49276 + 6 = 150 9809 + 1 =
Mathematics: Division - Level T - Horizontal - Set 3 6 cul
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